Geometry Name: k €y
Quiz Review UV :
Special Segments & Points of Concurrency Date: Period:

For #1-7, fill in the correct answer.

1. The point equidistant from the vertices of a triangle is the Crreum C"//‘./E'T

2. The distance from the vertex to the Cf/n"/'r D‘;j is two thirds the length of the median.

3. The point of concurrency for the medians is called the C&’l%r o ?”e .

4. The point of concurrency for the perpendicular bisectors is called the Crrccemeener,

5. The point of concurrency for the lines containing the altitudes is called the O” 7% &Zéfﬂ%.

6. The point of concurrency for the angle bisectors is called the / Acen 716) o

7. The point equidistant from the sides of the triangle is the i Cé//’ﬁ%/’"

\

For #8-13, identify the type of segment in each triangle.
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For #14 &16, use a ruler to draw the indicated segments of the triangle. You must be accurate

a_l‘l,\‘d show all correct markings.

é ircu Mwﬁ"ll«ef )

14. i)efpendicular bisector of BC.

A C
15. Altitude from D to EF.

D

D

o |

\
M



Geometry Name:
Quiz Review ' ' :
Special Segments & Points of Concurrency Date: Period:

Use the following diagram for #17-21. T is the centroid of A PAT.

s\
ey

/7
17. If PB =27, then PO = IX .
18. If AO =14, then OR = 7' .

19. IfBO=5,thenBP= [5 |

20. If TO = 16, then TM = Qﬁ‘; :

21. If RO =3, then OA = é .

Use the following diagram for #22 - 24. Point D is the circumcenter of A ABC.
DC=11,DG=6 5 L2 2
X +{ =l

22. GC= J—ég-

23. AC= Q.)_S;:

24. BD = ”
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Use the following diagram for #25 - 27. Point G is the incenter of A ABC.
DC =4, GF =5, m / ABC = 50°

25. BC= g

— 0
26. m £ ABF = ‘25
27, GE = 5— ’

28.In AEFG, DH is a perpendicular bisector of EG with D on EG. IfED = 7x + 10, GD = 9x -
2, and m4HDG = (4y + 2)°. Find the value of x and y. Show work.

F 7x+/0 N - L"J“Q 70

29. N is the circumcenter of AARK.
S6ey=2) (3= T
x+7=d| K/r ::/Q—
3x = L L
k=4 =3
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30. G is the incenter of AABC. GR LAB ,GT LBC,GS LAC; GR=7,and
mABAC = 60°.

B T b ¢

GT = E m4BAG = 3 Oa

,
31. O is the centroid of AABC. Each question is unrelated to the previous question.

If CO = 6, then OF = 3 .
If AD =12, then AO = and OD = é‘: .
If BF =4, then AF = » .
IfOE=5,then BO=__ /O .

pe T

32. TLis the incenter of AABC. Let mAABC = (6x - 4)® and m&ABI = 2x + 10)°.

Find x and the m&CBI. (Q [Qx " o) (X _ L'L
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In AABC, DE is a perpendicular bisector of AC with D on AC.

33. If m4EDC = (2y + 12)°. Find the value of y.

QJMQ:?D, j:37
34. If AD = 2x + 6 and DC = 4x - 42. Find the value of x.

Z‘b{«-?fél?—Qx*é |
D=4

35. WP is a median and an angle bisector of AHWA.

mAHWP = (2x - 3)° and m&HWA = (6x - 26)". Find x
2 (2-3)7 ex -
= 6x-36
A0 =dx




Name ’( e LL Date Class Period
Point of Concurrency Worksheet
Give the name the point of concurrency for each of the following.

1. Angle Bisectors of a Triangle l_/wcﬂrﬂ[@ r

2. Medians of a Triangle C@fﬁ[’rmwe |

3. Altitudes of a Triangle 4 %D(Mﬁir

4. Perpendicular Bisectors of a Triangle C(¥cu/m Wﬁ?’"

Complete each of the following statements.

5. The incenter of a triangle is equidistant from the  S7 /Z& S of the
triangle. :

6. The circumcenter of a triangle is equidistant from the L/ATicos wmw) f
the triangle.

7. The centroid is 7L ch?"'HB rl"l jof the distance from each vertex to the midpoint
of the opposite side.

8. To mscrtbe a circle about a triangle, you use the 1<&n '/'6 4 ( ’%’[/ 2 8/566'6% J

9. To circumscribe a circle about a triangle, you use the € lf«/UMW?Ler ( Z/W&/L
1's5CLTHV

10. Complete the following chart. Write if the point of concurrency is inside,

outside, or on the triangle. T 1
' AB M,,ﬂi-
C
M
Acute A Obtuse A Right A C | 1y
. : . . A |57,
Circumcenter | [nside outsida on tretnge |l [0
Incenter inside inside insida. PP
Centroid in ;'[odk. n ;,'o&_ n g)'é‘é(
Orthocenter insida outside an Friane
d N



In the diagram, the perpendicular bisectors (shown with dashed segments) of
AABC meet at point G--the circumcenter. and are shown dashed. Find the
indicated measure.

11. AG= A5 12. BD = RO
13. CF=_ A4 14. AB = Z7‘0
s ce= 15 16 ac= 48

3
17. mZADG = 90

A

18. TF BG = (2x - 15), find x.
M- 15= 45
Ax= 40
xzZo

In the diagram, the perpendicular bisectors (shown with dashed segments) of
AMNP meet at point O—the circumcenter. Find the
indicated measure. M 20 @ N

0. Mo= 6.9 20. PR = 24
21. MN = [1‘0 22. SP = Q‘Q

23. m/MQO = 0°

I

|

1

|

22 }

24. If OP = 2x, find x.
dx= 3L.8 g
x= (3. 4




Point T is the incenter of APQR.

25. If Point T is the incenter, then Point T
is the point of concurrency of

the ',Z(/M/g‘ Biﬁ'e,c'., oY’
J

2. sT= |5

27. I TU = (2x — 1), find x.
Ix-{=15
Ix=14

\X:g

T

x= |

[s]
28. If m/PRT = 24°, then mZQRT = ___QQ_L_f‘__

)

29. If m/RPQ = 62°, then m/RPT =3[ °

Point G is the centroid of A ABC, AD =8, AG =10, BE =10, AC =16 and
CD = 18. Find the length of each segment.

30. IfPoint G is the centroid, then Point T
is the point of concurrency of

the I’V)di an

3. DB=__ & 32. EA=_ 15
3. cG=_ Ik 34. A= /1€
35.GE= 5 36. GD=_6
3. Bo= 40 38. AF =



Point S is the centroid of ARTW, RS =4, VW =6, and TV=9. Find the length of
each segment. ,

39. RV = é
40. SU = ‘i
41. RU= é
‘42. RW = /&
43. TS = é

44. SV = 3

Point G is the centroid of A ABC. Use the given information to find the value
of the variable.

45. FG=x+8and GA=6x-4

Q(X-{-g):é‘k_’]_’_ £ F

_ )
o?X'[' I = Lx -4 A D ¢
0= 1y
5= x |

X= 5 [ g% T ——y
AL

46. IfCG=3y+7andCE=6y  |—F =
E G .

CG=3%(Ec) |
%, +7= 3( g{y) JE}i?f%

7

v



Is segment AB a midsegment, perpendicular bisector, angle bisector, median,

altitude, or none of these?

47)

P&fem&’wfm éise,d' 1Y

49) - A
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a/j/{ 4 z'S“e"cffmA

51)

B
/1ONae ru{ ﬁz‘s‘ie_{

48)

M/JS€QM~€MZL
J

50)
A
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